Date:_________________________
LO: To calculate the total amount of money
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Ava has £38 in her money box.

Ava puts E into the money box.

How much does she have now?

£38 £20

£38+ £20= £38 + £10 + £10 [j

i

Ava has ED 8
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Cinema tickets cost £6 each. Peter buys two.

How much does he spend?
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How much do both items cost in total?
) T o
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The total cost is £ [: B
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Ali gives £7, £5 and £9 to three different charities.
How much does he give altogether?

Show this on a bar model.

Ali gives ED to charity.
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e Poppy spends
£12 and 35p.

What could Poppy
have bought?

Book £10
Pencil case £5
Notepad £2
Pen £1

Rubber 20p
Pencil 10p

Big sticker 5p
Small sticker Ip





